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Example 2. When a 25.0 mL sample of unknown concentration of Sodium
hydroxide is titrated with 23.5 mL of 0.100 M Sulfuric Acid, the
equivalence point is reached. What is the concentration of NaOH?

Step 1. Write out the balanced equation:

H,50, + 2NaOH — Nga,50( + &H,DT
Step 2. Use the known concentration + volume to solve for moles

ol = LxHl 0.0335 Lx °"°°’;’jf hsoy . 0.00535 méd SO,

Step 3. Use the MOLE BRIDGE to calculate the moles of the unknown

0.0023S nmek HLEJOH % %%(_{L\JQOH = 0.00Y4Y70 /wa(\J@OH
SOy

Step 4. Divide the moles of unknown by volume of unknown to solve for
concentration
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Example 3. What volume of 0.200 M KOH is required to react with 125 mL
of 0.250 M H3PO, in order to produce K;HPO, according to this balanced
equation: H3PO4 (aq) + 2 KOH (aq) = K;HPO4 (aq) + 2 H20 (I)

Step 1. Identify the balanced equation:

HaP0, + 2 KoH — Kk HPoy + 2 H,0
Step 2. Use the known concentration + volume to solve for moles
0.11T k¥ x O-Z‘SIDMWL«D«Q HBPO», = 0.0313mel HSPO%
Step 3. Use the MOLE BRIDGE to calculate the moles of the unknown

0.0313% med H,p0, 2 mok ko 5 KO W
3 LIX[W\-«Q&HQIDOH 0.6025 Nell

Step 4. Divide the moles of unknown by molarity of unknown to solve for volume

L1M , 0.062% ek jcOH
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